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° The area of the parallelogram and the area of the triangle are equal.
What i the length of the base of the triangle?

24 cm Not to scale

2V ARV

® 2%cm ®2m © ® 36m

© Which of these four statements i true?

[ To find the area of a rectangle, multiply the length by the width,
then double the answer.

{8 To find the area of a triangle, measure the length of a side, then
multiply it by 3.

[® o find the area of a parallelogram, multiply the width by the length.
B To find the volume of a cuboid, mu

ly length by width by height.

a The volumes of cube A and cuboid B are equal.

What is the missing length?
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Here are some shapes on a centimetre grid. Which of these
four statements is true?

[ shapes A and E have the same areas but different perimeters.
{8) Shapes B and F have the same perimeters and areas.

{8 shapes C and D have the same perimeters.

[B) shapes A and E have equal perimeters but different areas.
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a) What s the area of the lawn?

riangle shows a lawn. Turf costs £2 per m?.

b) How much would it cost to turf Bm

the lawn?
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